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Section A

Answer all guestions.
A buneh of four questions carries a weight of 1.

Unit for a zero order reaction is

The First law of thermodynamics deal with L
When degree of freedom F is zero, the system is called
CP and C, are related by the equation

W 0 3 o 3

Triple point of water system is at ———————. femparature.
t,, of & nth order reaction is related to concentration as
For a process at equilibrium AG =
An isothermal process is .
1L, Visvosity iz an example for ————— extensity or intensive property.

.
=

An example for parallel reaction is
One hntamgunaqm catalytic reaction is
12 The reduced phase rule equation is
ITI. Match the following : '
In the following bunch of four questions match the correct form :

—
—

13 Claussius Clapeyron equation. — K= Ap EelBT
14 Van't Hoff's equation 5 }:nfcfufﬂ

dp g

16 Arrhenius equation — dT =m

16 Gibb's Duhem equati L LA E
(] equabion — "
dl gy
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Section B
Answer any five guestions,
Each question carries a weight of 1
What do you mean by congruent melting point ? Explain.
Explain isolated and closed systems with examples.
What do you mean by pseudo order reaction ? Explain citing one example.
What is steady state approximation ? Explain.
Draw and sketeh the phase diagram of water.
State Zeroth law of thermodynamies.
Who do you mean by explosive reactions ? Explain.
Explain the terms
(a) Partition function.
(b}, Thermodynamic probability.
(6x1=056)
Seetion C
Answer any four questions.
Each question corries a weight of 2.

What are complex chemical reactions ? Discuss the various types.

3G G
Show that [ET'J =*5ﬁ“ﬁ(g] =V,
T

o

Derive the rate equation for a Second order reaction. Show that for the second order reaction
2A — produet, the half life is inversely proportional to initial concentration of the reactant
5 moles of an ideal gas expand reversibly from a volume of 8 dm® 80 dm® to at a temperature
of 27°C. Calculate the change in entropy B = 8.314 J K-1 mol-1,

Draw the phase diagram of lead-silver system and explain how this can be utilised for
desilverisation of lead.

Explan: the term chemical potential ? Derive the Gibb's Dihem equation.
: (4= 2=8)






